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1.     

��� ھ�ه ا����� �� ھ�ه ا������ ، ا��
	 ا���ز  .1.1���ط��� (�) &'% &�% ، ط���# ا��ا"��� ��!ا � و
�#ة در.� -�ارد*! �. 

1.2.  	

�وي ���� ا����� ا��ا"��� ����ز ���� ا��0% ا��'� :  
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  .وھ8 ;�ط ا��8اء ا�89ي (�) ا��'P0=105 Pa 76 :  ا�6��5 ����ز��4ط ا .2


�وي <8�9ع ;�ط ا��8اء ا�89ي و;�ط ا�'��� (�) ا��'76 � ����ز >��5ا���4ط ا  : 2 0
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2 : قوى الضغط المطبقة على الغاز شغل تعبير  2 1( )W P V V= − −.  
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U W Q∆ = Uالتحول يتم دون تبادل حراري إذن  + W∆ = .  

1 2
1 2

1

( )
PT

U V P
T

∆ = − −  

   :تطبيق عددي 
5

3 5
4

3 5

10 540 40 10
1.10 ( ( 10 ))

300 20.1

1.10 10 (1,8 3) 120

U

U U J

−
−

−

× ×∆ = − − +

∆ = − × − ⇒ ∆ = +
  

  


